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ith 73,162,468 63,423,153 9,739,315 133
4,132,338 4,102,929 29,408 0.7

n 252,139 213,860 38,279 15.2 28
1,398,202 1,166,578 231,624 16.6
_ 90,274,470 87,420,797 2,853,673 SeZ
kg 2,952,208 2,768,714 183,493 6.2
42,894 37,005 5,889 13.7

- CO2




[ kih]

H28 | 5,545 | 5,512 | 6,083 | 6,937 | 6,968 | 7,252 | 5,422 | 5,866 | 5,926 | 5,768 | 6,031 | 5,854 73,162

R2 | 3,480 | 2,973 | 4,501 | 6,230 | 7,206 | 7,473 | 5,469 | 4,812 | 5,454 | 5,528 | 5,392 | 4,906 | 63,423
(4,844) (4,814)| (5,341)| (6,139)| (6,618) (6,657) (5,793) (5,031} (5,379)| (5,263)| (5,489) (4,426)| (65,794)

9,739
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Hg | 326| 218| 243 | 311| 316| 337| 320| 246| 377 | 413| 52| 502| 4,132
R2 154 66| 125| 313| 397 | 463 | 349 | 227| 370| 553| 584| 500| 4,103
GO (243)  (236)  (301)  (302)| (348)| (305 (235 (3471 (436)  (485]  (346)|  (3,8%6)
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[L] [L] [ 1] [ 1] [L- 1
H28 140,236 | 85,690 19,454 2,570 252,139
2 120,554 | 85,431 185 58 213,860
(135,502 (97,988) (138) (1,438 (235,056
38,279
1.00 1.09 T
0.78 1.29
]
H28 191(5) 26(5) 10 3 230
R2 206(13) 32(0) 2 1 241
)
]
H28 1,186 331 39 7 1,564
R2 1,115 345 0 1 1,461
/ -L] | H28 | R2
6.20 | 6.83
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L A4 ]

H28 | 4,363 | 10,188 | 7,003 | 7,226 | 4,929 | 8,760 | 6,749 | 8,723 | 6,639 | 8,220 | 7,411 | 10,063 90,274

R2 3,042 | 3,171 6,730 | 7,163 5,653 | 7,741 | 7,575 9,235 | 7,642 6,985 | 6,933 | 15,551 87,421
(2,760)| (8,459) (7,637) (10,082) (3,434) (9,677)| (8,706) (6,695) (8,598)| (6,269)| (5,843) (15,464 (93,622)
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[ t]
H8 270 264 276 236 163 265 263 261 261 209 228 | 257 2,952
R2 141 111 292 289 204 259 278 244 261 206 207 276 2,769
(256)  (264) (267) (243) (181) (259) @78)|  (254) (252) (211) (221) (198)  (2,884)
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37,005
o, 42,894 o175 5,889 13.7
[ ~C01
28
32,289 26,668 | 5,621| 17.4
10,007 9,821 186 1.9
598 516 82| 13.8
42,894 37,005 5,889| 13.7




1kWh
X
kg-CO2 kWh
kg-CO>/kWh
HP;
Ver.1l.1
CO2 28
0.486 0.457
0.545 0.519
0.485 0.431
0.405 0.391
kg-C0>/kWh
0.536 0.483
0.413 0.396
0.050 0.052
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